Rubric: UNIT: Graphing Linear Equations & Connecting Algebra to Geometry
                                                                          ALGEBRA 1: Criteria C Communications in Mathematics



Finding  Slope and equations of lines and/or inequalities. 











Determine the 3 types of linear equations that goes through the points (1,1) and (3,7). Explain all steps involved in solution. Answer Slope = y2-y1/x2-x1   =(7-1)/(3-1)   = 6/2     = 3  = a  (slope)                


Standard              Slope-Intercept         Point-Slope


Ax+By=C        y=ax+b(1=3(1)+b      y-y1 = a(x-x1)              


y=3x-2     (sub) pt.(1,1) 1= 3+b      pt.(3,7) y-7=3(x-3) (-3x) (-3x)  AI,Gr, AIO  (-3) (-3)        y-7=3(x-3)


3x-y= 2           (sub) -2=b  y=3x-2














a    b   Write the linear inequality of the boundary & 


              explain the process of creating the inequality, 


    c      domain and range. Answer: Slope = Rise/Run.                     


Side A.   5/0 = Und:   Domain: a .{0} b.{0(x(2}:


side B    -5/2 :        c.{0(x(2}  Range:a


Side C   0/2 = 0  Using Points (0,0)(2,0)


Side A: y=ax+b  Side B: y=ax+b  Side C: y=ax+b


0=Und(0)+b         (2,0)   0=(-5/2)(2)+b    0=(0)(2)+b


Und:  x=0                       0=-5+b b=5        0=b








a   b   Write the linear inequality of the boundary & 


          explain the process of creating the inequality, 


    c     domain and range. Answer: Slope = Rise/Run.                     


Side A. Rise 5 run O  5/0 = Und:  Domain: a .{0} b.{0(x(2}:


side B  Rise -5 Run 2=-5/2 :                                 c.{0(x(2} 


Side C Rise 0 Run 2 = 0/2 =0    Range: a. {0(x(5}:b0(x(5 Using Points (0,0)(2,0)                           c.{0}


Side A: y=ax+b        Side B: y=ax+b             Side C: y=ax+b


0=Und(0)+b         (2,0)   0=(-5/2)(2)+b              0=(0)(2)+b


Und:  x=0         y=(-5/2)x+5   = -5+b; b=5         0=b y=0














5-6 Shows good use of math language & 


4-5 math representations. Reasoning is concise, logical and complete. Moves between different forms of representations effectively. 


 





3-4  Shows sufficient use and movement 


3-4 between math language & forms of math representations. Reasoning is clear though not always logical and complete.





Shows basic use of mathematical


1-2  language and/or mathematical representations. Lines of Reasoning are difficult to follow. 








Find the linear equation  of the line that is parallel and perpendicular  that runs through the point (3,5) to the line created by the table Plot & explain each step


x( y Slope=(y/(x  (y=2;(x=1  Parallel Lines a=a


1(3  a=2;  (1,3)  y=ax+b            y=2x+1 (( y=2x( b(


2(5   3=(2)(1)+b     y=2x+1    y=ax+b  using a=2, (2,5)


3(7   3= 2+b                           5=(2)(3)+b  ( b=1 :     y=2x-1


4(9 -2   -2             Perpendicular line( a(a=-1.    y=ax+b a=2.  


        1=b              2 (-½=-1  ( a=-½   5=(-½)(3)+b b=11/2





a  Write the linear inequality of the boundary   


    b  and explain the process of creating the 


  c    inequality, domain and range. Ans: 


Slope = Rise/Run.                Domain= {0,2}


Side A.  5/0 = 0:                  Range = {0,5,-5}


side B   -5/2 := -2.5


Side C   0/2 =0


Y= 0x+5, y=-5/2x+2; y=0x+5








Rearranging  Algebraic   forms of Linear Equations











0  No Standard  


0   Reached


    No Attempt made 








Determine parallel and/or perpendicular line(s) through a given point. 








Determine the best fit line & calculate the equation of the trend line for a scatter plot. 














Graph the data and find the equation of the line of best fit for the points: (1,1); (3,4); (5,5); (4,4); (7,6).


y     Run = 6    ( (7,6)      Slope of line = Rise/Run


   Rise                             Rise = 4; Run =6: 4/6 = (                


    =4        ( (5,5)        using point (3,4) 


  (3,4)( ( (4,4)          y=ax+b           y=  ( x + 2 (sub)


   ( (1,2)           (sub) 4=(()(3)+b     Equation of line of


                      x  MF  4= (6/3)+b      best fit. Positive


                        TI B  4= 2+b            Trend. Up &     


           AI, Gr, AIO  -2   -2               Toward the Right 


                      (sub)  2 = b         


I plotted the points using the (x,y) order pairs on an X-Y coordinate plane. I drew a best fit getting close to every point as possible. I used rise and run, as shown, to find the slope. I substituted the slope and  the point (3,4) because it fell on the trend line, in the equation y=ax+b. The final equation is y=  ( x + 2.








Determine the 3 types of  linear equations that goes through the points (1,1) and (3,7). Explain all steps involved in solution. Answer Slope = y2-y1/x2-x1   =(7-1)/(3-1)   = 6/2     = 3  = a  (slope)                


Standard              Slope-Intercept         Point-Slope


Ax+By=C        y=ax+b(1=3(1)+b      y-y1 = a(x-x1)              


y=3x-2           pt.(1,1) 1= 3+b       pt.(3,7) y-7=3(x-3) (-3x) (-3x)                 (-3) (-3)                 y-7=3(x-3)


3x-y= 2               -2=b  y=3x-2





Find the linear equation  of the line that is parallel and perpendicular that runs through the point (3,5) to the line created by the table.  Plot & explain each step


x( y Slope=(y/(x  (y=2;(x=1  Parallel Lines a=a


1(3  a=2;  (1,3)  y=ax+b            y=2x+1                  Perpend. 


2(5   3=(2)(1)+b  y=2x+1   using a=2,(2,5)        y=ax+b


3(7   3= 2+b                           5=(2)(3)+b         y=-½ x + b


4(9  -2   -2                             b=1                    5 =-½ (3) +b


        1=b                           y= 2x+1            5= (-3/2) x + b





Graph the data and find the equation of the line of best fit for the points: (1,1); (3,4); (5,5); (4,4); (7,6).


y                         ( (7,6)   Slope of line = Rise/Run


                                         Rise = 5; Run =7: 5/7 =a 


                ( (5,5)         y=ax+b   a=(5/7) pt. (3.5,4)


   (3,4)( ( (4,4)          4=(5/7)(3.5)+b


   ( (1,2)                    4= (5/7)(7/2) +b


                           x     4= 35/14+b


                            -35/14  -35/14


                                  1.5=b


                             y= (5/7)x+1.5


I plotted the points using the order pairs on an X-Y coordinate plane. I drew a best fit getting close to every point as possible. I used rise and run, as shown, to find the slope. I substituted the slope and  the point (3.5,4) because it fell on the trend line, in the equation y=ax+b.














Graph the data and find the equation of the line of best fit for the points: (1,2);(3,4);(5,5); (4,4); (7,6).                Slope = Rise/Run


y                     ( (7,6)            =  6/7


                                         6=(6/7)(7)+b


               ( (5,5)                6=6+b


   (3,4)( ( (4,4)                 0=b


     ( (1,2)                      y=6/7x+0


                       X   I plotted the points on an X-Y coordinate plane. I drew a best fit line starting at the origin and ending at point (7,6). I used rise and run to find the slope. I place the point in the equation y=ax+b and found b to equal 0.  So the equation is y=6/7x+0.





Find the linear equation  of the line that is parallel and perpendicular that runs through the point (3,5)  to the line created by the table.  Plot & explain each step. Answer:


x( y   Slope = 2                    Parallel: y=2x+2


1(3    Equation: 3=2(1)+b     Perpendicular :  


2(5     3=2+b                            y= -1/2x+2                     


3(7     1=b


4(9    y= 2x+1











Determine the 3 types of  linear equations that goes through the points (1,1) and (3,7). Explain all steps involved in solution. Answer: Slope = y2-y1/x2-x1        y=3x+4


                           =(7-1)/(3-1)     -3x+y=4


                           = 6/2              y-1=3(x-1)    y=ax+b              =3


1=(3)(1)+b              


b=4





Write the linear inequal-ity of the boundary and explain the process of creating the inequality, domain and range. Answer:  ?  Blank   


Don’t Know








Graph the data and find the equation of the line of best fit for the points: (1,2); (3,4);(5,5);(4,4); (7,6). Explain and justify you reasoning and answer. Answer:  


? 


 Blank   


Don’t Know








Find the linear equation  of the line that is parallel and perpendicular that runs through the point (3,5) to the line created by the table. Insure you plot and explain each step in the solution. Answer:  ?  Blank. Don’t Know.











Determine the 3 types of  linear equations that goes through the points (1,1) and (3,7). Explain all steps involved in solution. Answer:  ?  Blank   


Don’t Know








Level


Grade


Concept 








